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Bxoga Tan Bpoi ETax 3acTpoeHa oM. 06wWwo Q,(r
cnantm NIOUKB.M. | KB.M. | KB.M \‘Q
A AnapramenT A21 1 6-TH eT. 59,22 10,65 | 69,87 \ \
A Anaprament A22 1 6-TH eT. 71,85 12,29 | 84,14 \ \
A AnaptamenT A23 1 6-TH eT. 65,51 11,78 | 77,29 \ (
A AnaptamenT A24 1 6-TH eT. 57,95 991 67,86
A AnaptamenT A25 1 6-TH eT. 54,85 9,57 | 6442
B Anaptament B20 1 6-TH eT. 53,33 9,50 | 62,83
B Anaprament B21 1 6-TH eT. 64,78 11,76 | 76,54
B Anaprament B22 1 6-TH eT. 58,61 10,03 | 68,64
b AnaptamenT B23 1 6-TH eT. 58,51 10,21 | 68,72
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